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Physical Science Practice EOC

____  1.  According to the table, which time interval has the greatest acceleration?

	Time (seconds)
	MPH

	0
	0

	5
	10

	10
	20

	15
	40

	20
	55


a.  0 to 5 seconds

b.  5 to 10 seconds

c.  10 to 15 seconds
d.  15 to 20 seconds

____  2.  What is true of a neutral object that has been charged by contact with a negative object?


a.  It remains neutral.
b.  It becomes negative.

c.  It becomes positive.
d.  It becomes uncharged.

____  3.  If a 2.0 A current flows through a light bulb whose resistance is 6.0 ohms, what potential difference is needed?


a.  3.0 V


b.  12 V



c.  18 V


d.  120 V

____  4.  Which diagram represents a parallel circuit?
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____  5.  If the north poles of two strong magnets are placed close together, what will the magnets do?

a.  come together

b.  turn around


c.  push apart

d.  stay as placed

____  6.  Which picture shows the path of a beam of light as is strikes a mirror?
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____  7.  Aluminum oxide is formed when atoms of aluminum and oxygen combine.  What is the correct chemical formula for this 

compound?


a.  AlO


b.  Al2O2


c.  Al3O3


d.  Al2O3

____  8.  What property cause halogens to be very reactive elements?


a.  They have a full outer shell.


c.  They are radioactive.


b.  They have an oxidation number of 1.

d.  They are all gases.

____  9.  What is the average speed of a car that travels 60 kilometers in 2 hours?


a.  30 km/hr

b.  30km/hr/sec


c.  60 km/hr

d.  60 km/hr/sec

____  10.  The speed of an object increases by 30 m/s in 10 seconds.  What is its acceleration?


a.  300 m/s2

b.  20 m/s2


c.  3 m/s2

d.  0.33 m/s2
____  11.  A boulder falls from a cliff.  What is the boulders acceleration during the fifth second of the fall?


a.  2.0 m/s2

b.  9.8 m/s2


c.  20.0 m/s2

d.  98 m/s2
____  12.  What forces are equal is size but opposite in direction?


a.  balanced

b.  frictional


c.  gravitational

d.  unbalanced

____  13.  If a 6.0 N forces is required to move a box through a distance of 2.0 m, how much work is done?

a.  3.0 J


b.    4.0 J


c.  8.0 J


d.  12 J

____  14.  Which of the following is an example of kinetic energy?


a.  a car not moving
b.  a rock resting on a ledge
c.  water falling over a dam           d.  a person sitting in a chair

____  15.  Which term best explains what happens when a student warms his hand by placing it on a hot water bottle?


a.  thermal expansion
b.  conduction


c.  convection

d.  radiation

____  16.  What happens when electrical charges are brought together?


a.  Unlike charges attract and like charges repel.

c.  Like charges attract and unlike charges repel.


b.  Unlike and like charges attract.



d.  Like charges attract and repel.

____  17.  What is the resistance of a hair dryer that uses 2.5 A when the voltage is 120 V?


a.  4.8 ohms

b.  48 ohms


c.  120 ohms

d.  300 ohms

____  18.  Why are parallel circuits, rather than series circuits, commonly used in wiring homes?


a.  They allow appliances to operate separately.

c.  They have a higher total resistance.


b.  They are cheaper.




d.  The voltage drop varies with each resistor.

____  19.  The diagram below is a complete circuit.
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What will occur when bulb B is unscrewed?


a.  All bulbs will go out.




c.  Only bulb C will continue to be lit.


b.  Only bulb A will continue to be lit.


d.  Bulbs A and C will continue to be lit.

____  20.  Which of the following actions would decrease the strength of an electromagnet?


a.  removing turns from the wire coil


c.  inserting a core of iron within the core


b.  increasing the amount of current used


d.  adding more turns to the coil

____  21.  Which of the following diagrams correctly demonstrates the magnetic field around a bar magnet?
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____  22.  In comparison to other electromagnetic waves, which of the following statements about gamma rays is true?


a.  They have the greatest wavelength.


c.  They have the lowest amplitude.


b.  They have the lowest frequency.



d.  They have the highest photon energy.

____  23.  The diagram below shows a light ray hitting the surface of water.

 



         ray of light





air




water


What is most likely to occur when the ray of light meets the water’s surface?


a.  reflection only

b.  refraction only

c.  both reflection and refraction  
d.  neither reflection nor refraction

____  24.  If the source of a sound is moving away from you, what characteristic of the sound waves reaching your ears decreases?


a.  quality

b.  velocity

c.  frequency


d.  wavelength

____  25.  The atoms in a compound have what characteristic?


a.  They can be seen individually.


c.  They join in a definite proportion.


b.  They merge their nuclei.


d.  They have the same charge.

____  26.  What do all atoms of the same element have in common?


a.  number of neutrons
b.  mass number

c.  atomic number

d.  atomic mass

____  27.  What causes an object to have a positive charge?


a.  Protons are removed.



c.  Electrons are removed.


b.  Protons are added.



d.  Electrons are added.

____  28.  Which drawing best represents an atom of lithium?


a.






c.
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    3 P



 3 N






    4 N



b.  






d.






         4 P





         3 P



         3 N





         4 N



____  29.  Laughing gas is a compound containing a ratio of two atoms of nitrogen to one atom of oxygen.  What is the formula?


a.  NO2


b.  N2O


c.  N2O2



d.  NO

____  30.  Which of the following elements is chemically most similar to cesium?


a.  helium

b.  xenon

c.  rubidium


d.  barium

____  31.  Why are noble gases so unreactive


a.  Their outer shell has 1 electron.


c.  Their outer shell is filled.


b.  Their outer shell has 2 electrons.


d.  Their outer shell needs one electron to be full.

____  32.  Which of the following reactions represents a decomposition reaction?


a.  S  +  O2  (  SO2



c.  NaCl  +  AgNO3  (  NaNO3  +  AgCl


b.  2Fe2O3  +  3C  (  4Fe  +  3CO2


d.  2H2O2  (  2H2O  +  O2
____  33.  Which compound has the greatest solubility at 65 °C?


[image: image5.png]




a.  NaCl


b.  KBr


c.  KNO3


d.  NaClO3

KEY

1. C

2. B

3. B

4. D

5. C

6. A

7. D

8. B

9. A

10. C

11. B

12. A

13. D

14. C

15. B

16. A

17. B

18. A

19. A

20. A

21. B

22. D

23. C

24. C

25. C

26. C

27. C

28. C

29. B

30. C

31. C

32. D

33. D













